
Dataset information:

http://stat.ethz.ch/R‐manual/R‐devel/library/datasets/html/state.html

For case Q‐Q, we will use a dataset containing information about U.S. states during the 
1970’s.  
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A few lines of the data are shown here.  

The variables are: 
• state name
• Population
• per‐capita income
• illiteracy rate
• life expectancy
• Murder and non‐negligent manslaughter rate per 100,000 population
• Percent high school graduates
• Mean number of days with the minimum temperature below freezing in capital or large 

city
And the 
• Land area in square miles.  

In particular we will investigate the associations between murder, frost, and illiteracy.  
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This is a scatterplot matrix from SPSS showing the scatterplots of all possible pairings 
between the variables murder, frost, and illiteracy.  
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And a similar scatterplot matrix from SAS.

None of these scatterplots show any clear non‐linear trends although there may be some 
outliers.  
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Here we have individual scatterplots with LOESS curves for 
Murder vs. frost (on the left)
Murder vs. illiteracy (center)
Illiteracy vs. frost (right) 

Of the three plots, the murder vs. illiteracy scatterplot in the center shows the most linear 
trend followed by illiteracy vs. frost (on the right) and finally murder vs. frost (on the left).  

Although the plot for murder vs. frost (on the left) may be truly non‐linear, we will 
investigate all three of these relationships further using correlation and regression.  

From these plots we would expect a negative correlation between murder and frost (on the 
left) and between illiteracy and frost (on the right)

And a positive correlation between murder and illiteracy.  
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First we have the SAS output for both Pearson’s and Spearman’s correlation between all 
combinations.  

The results are all highly statistically significant.  

For Murder vs. Frost, Pearson’s correlation is ‐0.539 and Spearman’s is ‐0.544.  Both 
indicating a moderately strong negative linear association between murder and frost.  As 
the mean number of days below freezing increases, the murder rate tends to decrease.  

For Murder vs. Illiteracy, Pearson’s correlation is 0.703 and Spearman’s is 0.672.  Both 
indicating a somewhat strong positive linear association between murder and illiteracy.  As 
the illiteracy rate increases, the murder rate tends to increase.  

For Frost vs. Illiteracy, Pearson’s correlation is ‐0.672 and Spearman’s is ‐0.683.  Both 
indicating a somewhat strong negative linear association between frost and illiteracy.  As 
the mean number of days below freezing increases, the illiteracy rate tends to decrease.  

These values confirm what we found in the previous scatterplots.    
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We find the same results for Pearson’s correlation in SPSS.  
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And for Spearman’s correlation.  The only difference is in the order the variables are 
presented.  
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Now we can continue with simple linear regression.  

Values of particular interest are outlined.  

We have an R‐squared of 0.2904 indicating that 29% of the variation in murder rate can be 
explained by the mean number of days below freezing.  

The slope is statistically significant with a p‐value <0.0001.  

The linear regression equation is: Predicted Murder Rate = 11.38 – 0.038(Frost).  

The 95% confidence interval for the slope is ‐0.056 to ‐0.021.  

We can interpret the slope and it’s confidence interval by saying: For each 1 day increase in 
the mean number of days with minimum temperature below freezing, the averagemurder 
rate decreases by 0.038.  The 95% confidence interval suggests this decrease could be as 
little as 0.021 to as much as 0.056.  
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The results from SPSS are exactly the same except for differences in rounding.  
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In SAS we obtain the following diagnostic plots and a fit plot by default when conducting a 
regression analysis.  

We need to verify that the relationship is reasonably linear, which we have here.  

We need to check that the residuals are approximately normally distributed.  Looking at the 
QQ‐plot and histogram of the residuals, the normality assumption seems completely 
reasonable.  

We need to check the assumption of constant variance.  From the plot of the residuals by 
the predicted values, there is no clear violation of this assumption. The points are relatively 
evenly distributed with similar spread around the horizontal line at zero over the range of 
predicted values.  We could also look at the scatterplot of the data to see that the constant 
variance assumption is reasonable.  

We haven’t learned about all of the graphs displayed here by SAS but if you go on to a 
regression course you will learn more about some of these plots and measures.  
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For murder vs. illiteracy, we have an R‐squared of 0.4942 indicating that 49% of the 
variation in murder rate can be explained by illiteracy. 

The slope is statistically significant with a p‐value <0.0001.  

The linear regression equation is: Predicted Murder Rate = 2.40 + 4.26(Illiteracy).  

The 95% confidence interval for the slope is 3.007 to 5.508.

We can interpret the slope and it’s confidence interval by saying: For each 1 percentage 
point increase in the illiteracy rate, the averagemurder rate increases by 4.26.  The 95% 
confidence interval suggests this increase could be as little as 3.007 to as much as 5.508.
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Here we use the SPSS versions of the needed graphs to validate assumptions.  

Linearity is reasonable from the scatterplot.  

The histogram and normal probability plot indicate normality is reasonable.  In regression, 
SPSS gives a PP‐plot instead of a QQ‐plot but these graphs are identical in what we expect 
to see and how they are interpreted and can be used interchangeably.  

Finally the plot of the residuals by the predicted values shows no major issues although 
there does seem to be a slight decrease in the spread as the predicted value increases, this 
could be driven by two odd points in the scatterplot – one high value on the left side which 
is unusually far from the line and one on the right side corresponding to the largest x‐value 
as if we ignore those two points, what remains seems to better satisfy the constant 
variance assumption.  
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Finally for illiteracy vs. frost, we have an R‐squared of 0.452 indicating that 45% of the 
variation in illiteracy can be explained by frost. 

The slope is statistically significant with a p‐value reported as 0.000.  

The linear regression equation is: Predicted Percent Illiteracy = 1.993 – 0.008(Frost).  

The 95% confidence interval for the slope is ‐0.010 to ‐0.005.

We can interpret the slope and it’s confidence interval by saying: For each 1 day increase in 
the mean number of days with minimum temperature below freezing, the average illiteracy 
percentage decreases by 0.008.  The 95% confidence interval suggests this decrease could 
be as little as 0.005 to as much as 0.01.  
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In this case, linearity is reasonably. 

The residuals are reasonably normally distributed based upon the QQ‐plot and histogram 
of the residuals.  

However, in this case, there does seem to be a strange pattern in the residual vs. predicted 
values plot and the original scatterplot.  The residuals vs. predicted values shows an 
increasing spread as the predicted value increases.  The scatterplot shows a similar trend in 
that as the variable Frost increases, the variation around the regression line seems to be 
decreasing.  Thus there is some concern about the validity of the constant variance 
assumption.  
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Although we found associations in each of these three regression models, we must be 
careful about concluding the relationship is causal.  

The first relationship found as the mean number of days with minimum temperature below 
freezing increases, the murder rate decreases but we CANNOT say that more days below 
freezing CAUSES the murder rate to decrease.  

In the second relationship we see that as the illiteracy percentage increases, the murder 
rate also increases but again we CANNOT say that higher illiteracy percentage CAUSES the 
murder rate to increase.  

The fact that illiteracy and frost are also related in the third relationship shows that when 
considering the relationship between murder and frost, we must be aware that illiteracy is 
also related to both frost and murder and thus illiteracy is a potential lurking variable in this 
relationship between murder and frost.  

In general, unless you have performed a randomized controlled experiment, you should 
always be cautious about claiming a direct causal link between the explanatory and 
response variables in any analysis!  
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